
Clarinet in A

pp

Andantino q. = 52 q. = 56 q. = 52 poco rit. 

mp p

q. = 52 poco cresc. poco rit. 
q. = 56 q. = 60

5

pp p pp

A tempo q. = 54 poco rit.A10

ppp

q. = 48 q. = 52 q. = 4814

p

molto rit. Allegro giocoso q = 106B19

pp

24

mp p p

28

pp p

C34

9
8

2
4

May 

Starlit night
Piotr Tchaikovsky op 37 a nr 5 

arr Ioan Dobrinescu

http://www.free-scores.com


39

mp mp

cresc. poco rit. Poco menmo moso q = 98

D
42

p p pp

diminuendo poco rit.49

mf pp

Allegro giocoso q = 106E55

mp

62

pp pppp

diminnuendo rit. 67

9
8

Clarinet in A2

http://www.free-scores.com


pp

Andantino q. = 52 q. = 56 q. = 52 poco rit. F72
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q. = 60 poco rit. A tempo q. = 54 poco rit. 
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